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mEREZ5 15,338 23,225 276,058 214,503 184,131 713,255 = 713,255
SHEREE 2 (fi33) — = = (214,503) 176,603 (37,900) = (37,900)
R-ZEWE=A=1+—-8 &3l 15,338 23,225 276,058 = 360,734 675,355 = 675,355
FEREHRENEBERLA L — = = = 181,521 181,521 (363) 181,158
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il 44 690 — — — 734 — 734
R-ZZRF=A=+-H 15,382 23,915 276,058 = 542,255 857,610 — 857,610
— SHHREY Y2 (H53) — — — = 8,110 8,110 = 8,110
R-ZZREMA—R - &) 15,382 23,915 276,058 = 550,365 865,720 = 865,720
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ki 7,800 214,150 = = = 221,950 = 221,950
TfEEE R 209 3,308 = = = 3,517 = 3,517
BBz EERY - (3,423) = — — (3,423) — (3,423)
BKRE — — = = (16,959) (16,959) = (16,959)
R-ZEEXRE=A=1-H 23,391 237,950 276,058 — 673,689 1,211,088 1,05 1,212,144
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